
Previous Year Topic-wise
SSC CGL 2022
Smart Practice Question Series

GENERAL INTELLIGENCE AND REASONING
Chapter 1 : Analogy



300+ Most Important Topic-Wise Questions.
20+ Hours Detailed Video Solutions.
Doubt Resolution By Teachers.
Free Trial Available.

COMPETITIVE EXAMS PRACTICE  MADE EASY

Reasoning and General Awareness

PRACTICE PACKAGE

SSC CGL 2023 

https://asianonline.in/practice-sets/ssc-cgl-reasoning-and-general-intelligence-practice-package-1001


Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL 
Tier-1

1 Dec, 2022
Shift 4 (5:30-6:30 pm)

17. Select the option that is related to the fifth letter-cluster in the same way as the second 
letter-cluster is related to the first lettercluster and the fourth letter-cluster is related to 
the third letter-cluster.
LAMB : DPEQ :: MOTH : JWSR :: NERD : ?

A. FVJS
B. FUJS
C. FVIS
D. FUIS



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL 
Tier-1

1 Dec, 2022
Shift 4 (5:30-6:30 pm)

18. Select the option that is related to the fifth letter-cluster in the same way as the second 
letter-cluster is related to the first lettercluster and the fourth letter-cluster is related to 
the third letter-cluster.
BEAR : DFCS :: FEEL : HFGM :: MANY : ?

A. OBPY
B. OCPZ
C. OBPZ
D. OBQZ
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19. Select the option that is related to the fifth letter-cluster in the same way as the second 
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related to the 
third letter-cluster.

HERO : JGPM :: FLOW : HNMU :: DIAL : ?
A. FLIJ
B. FKYJ
C. JFYK
D. KYFJ
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20. Select the set in which the numbers are related in the same way as are the numbers of the 
following sets. 
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.
E.g. 13 - Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be 
performed. Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 
and 3 is not allowed)
(4, 13, 5)
(3, 12, 6)

A. (5, 17, 6)
B. (4, 10, 3)
C. (7, 16, 3)
D. (5, 17, 7)
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21. Select the set in which the numbers are related in the same way as are the numbers of the 
following set.
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.)
(4, 25, 6)
(8, 25, 3)

A. (14, 55, 4)
B. (7, 22, 3)
C. (3, 81, 6)
D. (12, 96, 8)
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22. Select the option that is related to the fifth number in the same way as the second number is 
related to the first number and the fourth number is related to the third number.

10 : 45 :: 6 : 25 :: 9 : ?
A. 40
B. 38
C. 36
D. 42
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23. Select the option that is related to the third term in the same way as the second of the term is 
related to the first term. (The words are to be treated as meaningful English/Hindi words and 
should not be linked on the basis of number of alphabets/number of consonants/number of 
vowels in these words.)

Panda : Bamboo :: Koala : ?
A. Fish
B. Grass
C. Bark
D. Eucalyptus
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24. Three of the following letter-clusters are alike in some manner and hence form a group. 
Which letter-cluster does NOT belong to that group?

A. EVS
B. IRP
C. VEB
D. GTQ
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25. Select the option that is related to the fifth letter-cluster in the same way as the second 
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related to the 
third letter-cluster. CONTROL : NOCTRLO :: MISTAKE : SIMTAEK :: JOURNAL : ?

A. AOUNRJL
B. OJRLAUN
C. JRNAOUL
D. UOJRNLA
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26. Select the set in which the numbers are related in the same way as are the numbers of the 
following sets.
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.
E.g. 13 - Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be 
performed. Breaking down 13 into 1 and 3
and then performing mathematical operations on 1 and 3 is not allowed)
(15, 9, 4)
(7, 2, 3)

A. (21, 12, 6)
B. (19, 13, 4)
C. (24, 9, 11)
D. (18, 7, 7)
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27. Select the option that is related to the third term in the same way as the second term is 
related to the first term and the sixth term is related to the fifth term.

21 : 196 :: 29 : ? :: 38 : 315
A. 319
B. 252
C. 203
D. 841
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28. Select the set in which the numbers are related in the same way as are the numbers of the 
following set.
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.
E.g., 13 - Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be 
performed. Breaking down 13 into 1 and 3
and then performing mathematical operations on 1 and 3 is NOT allowed).
(25, 9, 56)
(13, 14, 183)

A. (27, 15, 198)
B. (42, 12, 228)
C. (19, 23, 511)
D. (11, 16, 135)
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29. Select the set in which the numbers are related in the same way as are the numbers of the 
following sets.
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.
E.g. 13 - Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be 
performed. Breaking down 13 into 1 and 3
and then performing mathematical operations on 1 and 3 is NOT allowed)
(30, 93, 1)
(42, 132, 2)

A. (4,60,5)
B. (5,31,29)
C. (14,20,25)
D. (3,30,7)
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30. Select the word-pair that best represents a similar relationship to the one expressed in the pair 
of words given below. 
(The words must be considered as meaningful English words and must not be related to each 
other based on the number of letters/number of consonants/vowels in the word.)

Sparrows : Tree
A. Fish : Water
B. Owl : Night
C. Cow : Beach
D. Rabbit : Sand
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31. Select the option that is related to the third word in the same way as the second word is 
related to the first word. 
(The words must be considered as meaningful English words and must not be related to each 
other based on the number of letters/number of consonants/vowels in the word.)

Cloth : Closet :: Gun : ?
A. Bullet
B. Armoury
C. Almirah
D. Chest
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32. Select the option that is related to the fourth term in the same way as the first term is related 
to the second term and the fifth term is related to the sixth term.

8 : 496 :: ? : 204 :: 9 : 711
A. 6
B. 5
C. 11
D. 13
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33. Select the option that is related to the third word in the same way as the second word is related 
to the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the 
word) Knife : Cut :: Ladle : ?

A. Slice
B. Spread
C. Serve
D. Chop
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34. Select the word-pair that best represents a similar relationship to the one expressed in the 
given pair of words. (The words must be considered as meaningful English words and must not 
be related to each other based on the number of letters/number of consonants/vowels in the 
word) Hen : Coop

A. Bee : Hive
B. Cow : Hay
C. Horse : Field
D. Elephant : Leaves
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35. Select the option that is related to the third number in the same way as the second number is 
related to the first number and the sixth number is related to the fifth number. 687 : 612 :: 713 : ? 
:: 621 : 546

A. 662
B. 638
C. 674
D. 656


